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dimension m — r

Figure from Strang, introduction to linear algebra
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Figure from Strang, introduction to linear algebra
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Figure from Strang, introduction to linear algebra
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Figure from Strang, introduction to linear algebra
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Figure from Strang, introduction to linear algebra



X5 BIR™ Y £ =5 [H]

e[ maoe[§

A =

ot o
N=O

1
oS O




ATAR ABHRET I ?

- B ¢ ATANE Y BXEANS 2 B TR
+ AMFI Z BT K | ABDIRR. rank(A)=n. dimN(4) =0

« JIEHA :
1 ATAﬂIA’ﬁ HERE = (8]
Ax = 0OfEHATAx = 0, FFIAN(A) € N(ATA)
+ ATAx = O xTATAx = 0, %’UIELEEIIAJKHZ =0, KEAZWEERHE
EEEE, FFllAx =0, N(ATA) c N(4)
* N(A) = N(AT 4)
2. ATAEnxnfy%EfE. dimN(ATA) = 0 FAT AT

- A& - ATATEE, TEATANAN T EREE




AT AT

« 51

|

AT
1 1 0
2 2 0

|

A

—

1
1
0

GRN NI )

dépendént singular

|

4'4 rl- L 1

2
4

4
S

|

|

Al A AT A
11 0] 1 3 _‘[2 4]
= [

2 2 1 01 4 9
indep.  1nvertible
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Figure from Strang, introduction to linear algebra
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Figure from Strang, introduction to linear algebra
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Figure from Strang, introduction to linear algebra
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